Rounding Sentence Match-Up

Set 1

These six sentences should explain how numbers are rounded to 10, 100 and 1000. Unfortunately, they have all been muddled up! Can you cut them out and rearrange them to make the sentences correct?

3764	rounded to the nearest 100	is 1990
5250	rounded to the nearest 10	is 3800
3004	rounded to the nearest 100	is 3000
1985	rounded to the nearest 1000	is 5300
2340	rounded to the nearest 10	is 2000
5350	rounded to the nearest 1000	is 5000

Rounding Sentence Match-Up

Set 1

These six sentences should explain how numbers are rounded to 10, 100 and 1000. Unfortunately, they have all been muddled up! Can you cut them out and rearrange them to make the sentences correct?

3764	rounded to the nearest 100	is 1990
5250	rounded to the nearest 10	is 3800
3004	rounded to the nearest 100	is 3000
1985	rounded to the nearest 1000	is 5300
2340	rounded to the nearest 10	is 2000
5350	rounded to the nearest 1000	is 5000



Rounding Sentence Match-Up

Set 2

These six sentences should explain how numbers are rounded to 10, 100 and 1000. Unfortunately, they have all been muddled up! Can you cut them out and rearrange them to make the sentences correct?

4840	rounded to the nearest 1000	is 6000
5500	rounded to the nearest 10	is 5200
5004	rounded to the nearest 1000	is 4800
4499	rounded to the nearest 100	is 4000
5150	rounded to the nearest 10	is 5000
4765	rounded to the nearest 100	is 4770

Rounding Sentence Match-Up

Set 2

These six sentences should explain how numbers are rounded to 10, 100 and 1000. Unfortunately, they have all been muddled up! Can you cut them out and rearrange them to make the sentences correct?

4840	rounded to the nearest 1000	is 6000
5500	rounded to the nearest 10	is 5200
5004	rounded to the nearest 1000	is 4800
4499	rounded to the nearest 100	is 4000
5150	rounded to the nearest 10	is 5000
4765	rounded to the nearest 100	is 4770



Rounding Sentence Match-Up

Set 3

These six sentences should explain how numbers are rounded to 10, 100 and 1000. Unfortunately, they have all been muddled up! Can you cut them out and rearrange them to make the sentences correct?

8634	rounded to the nearest 10	is 9000
7462	rounded to the nearest 1000	is 7460
7520	rounded to the nearest 100	is 8900
8995	rounded to the nearest 10	is 7500
7467	rounded to the nearest 100	is 9000
8940	rounded to the nearest 1000	is 8000

Rounding Sentence Match-Up

Set 3

These six sentences should explain how numbers are rounded to 10, 100 and 1000. Unfortunately, they have all been muddled up! Can you cut them out and rearrange them to make the sentences correct?

8634	rounded to the nearest 10	is 9000
7462	rounded to the nearest 1000	is 7460
7520	rounded to the nearest 100	is 8900
8995	rounded to the nearest 10	is 7500
7467	rounded to the nearest 100	is 9000
8940	rounded to the nearest 1000	is 8000



Rounding Sentence Match-Up Answers

Set 1

1985	rounded to the nearest 10	is 1990
3004	rounded to the nearest 10	is 3000
3764	rounded to the nearest 100	is 3800
5250	rounded to the nearest 100	is 5300
5350	rounded to the nearest 1000	is 5000
2340	rounded to the nearest 1000	is 2000

Set 2

4765	rounded to the nearest 10	is 4770
5004	rounded to the nearest 10	is 5000
5150	rounded to the nearest 100	is 5200
4840	rounded to the nearest 100	is 4800
4499	rounded to the nearest 1000	is 4000
5500	rounded to the nearest 1000	is 6000

Set 3

8995	rounded to the nearest 10	is 9000
7462	rounded to the nearest 10	is 7460
7467	rounded to the nearest 100	is 7500
8940	rounded to the nearest 100	is 8900
7520	rounded to the nearest 1000	is 8000
8634	rounded to the nearest 1000	is 9000

